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Set No. 1
Test Booklet No. 308350
SCHOOL ENTRANCE TEST, 2017
- CLASS - VI
[ Ta be filled up by the Candidate |
e e S of e o

ROl No. (I WOPdS) s,
Serial No. of Answer Sheet .................* T

- Signature of Invigilator
INSTRUCTIONS TO CANDIDATE

The Question-booklet contains 760 objective type questions, The candidates mus attempt all

the quostions. There is #o negative marking.

T W-gE ¥ 100 o v R 8 SR 3 ool s A wew

T T {4 o7 i i e

No Second Question FPaper Booklet OR Answer Sheet will-be given to the candidate

under any circumstances whatsoever.

Mﬁﬂﬁﬁﬁ % whgrdf & g wwr-vx ghet s - o T8

The candidate within 10 minutes of the issue of question paper booklet, will check up and
ensure that it contains all the pages and no page fsmisﬁng..fncaéeﬂfnﬁssingpagnis), the
candidate should report to the Invigilator and get it changed other fora complete Question
Paper Booklet.
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4.

I".h

10.

12,

The candidate will write Roll Number only on the Cover Page and on the Answer Sheet of the
question paper booklet at the places provided for the purpose and nowhere else, otherwise
the candidate will be disqualified inthe Entrance Test.

S T e & -y W SR & FfE TE W S
ST faaT, s A e el A e § dfem v fe srEm

Do not write your Roll No. OR Nanie inside the Booklet.

QIAET & 3rgT GAT A7 AT HIHHE 1 PR

There shall be no erasing or overwriting in the answers given on the Answer Sheet, in which
case such answers shall be deemed as incorrect.

aﬁt-ﬁﬂgf&ﬁnﬁﬁmﬁmaﬂﬁﬁrﬁaﬁma@ﬁmﬁwmqﬁmm,
Fiifs U ferfy o sfufea 3ol 1 ogE WH far s

Use of log tables or calculators is not permitted.

g o wRoR A ¥ I E SR 8

No candidate will be permitted to enter the Examination Hall after the expiry of 30 minutes
from the commencement of the Entrance Test,

e T AR % 30 e ¥ ang feel off vl & wden W F yaw & ol
T & s

No candidate will be permitted to leave the Examination Hall until the expiry of two
hours from the commencement of the Entrance Test.

adia STreT 1 & 3 auer dig @ ¥ B et aigne @t aer wa @ agy
&7 argafy gt o |

Candidate will not bring any loose paper, whether wrilten or blank, inside the Examination Hall
cxeept the Admit Card.

gheme Ft oY wAw-T & wfafes wWer v o TR o @ # o9 AW
SeE FTE AR @ el T

Candidates using any kind of unfair means OR attempting to cause disturbances in the
Examination Hall shall be liable to be expelled from the Fxamination and his/her performance
inthe Test will be cancelled.
%mﬁﬁﬂmﬂwm@mwmmﬁmmﬁ@mﬁ
S, v & S

Candidates are required to deposit the only OMR Answet Sheet at the close of the Examination.
mﬁ%mﬁm%ﬁ%mm@%ﬂmsﬂmmwmm
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SCHOOL . ENTRANCE TEST, 2017

CLASS : VI
Sl : VI
Time : Two Hours . Maximum Marks : 100
Y : 3 avd qurigF : 100
IMPORTANT

Read carefully the ‘Instructions for Answering’ given on the
Answer Sheet and answer the questions as directed :

TR-T9 T Ry T maufgam%&:ﬁwm&vr mﬁﬁtrﬁaqeﬂw
ﬁé‘ﬂ@nmﬁm :

m.HMWW-w%?

{1} 14 ST (2) 14 FEEET
(3) 14 SFEREAY ) 14 Remx
02. ‘S, §, 3, W, U, 9T 9N BT A w ¥ ?
ay e W@y (2) B w7
(3) ¥ &) (4} Rew @&

03. H aRa 79y & Taftar A § ?
1)+ o (2) FRE v
(3 qEw (@) arerhifs
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04. ‘wE W4 W T oFl 2 g § Fotaras @Eae e |9 @ ?
(1) a8 (2) TSt '
(3) =H (4) = anft

05. 71 o=l & U 9 atfys o of &8 | FEd € 7

(1) aTemredt (2) EETEdt

(3) Tafgar {4) faiim grex
op. T i@ fm W= gE & 7

(1) afef (2) amel

(3) aATErT (4) =fE
07. Brg o & fafa SFeEmrd A8 7

(1) Eega (2) Wik

(3) Pt (4) AT

08. f=dt auiten § @ sgeom afrEr R € 7
(1) 36 (2) 32
@) 35 @) 37

09, ‘HR T WAFU ek F FY T
(1) FafiEs T 8
(2) B & g FeaE S
(@) e A T T
(4) Sl T T OB
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10. B8 ° qeaw 1=l & "G T oNYTT g4y 2O

(1) wega (2) s
(3) Fdslr v (4) Bt
LS S e DN A s TR S A ¥ ?
(1) EeT-aid | (2) Bro—drelt
(3) At (4) EU-dg
12. “FOo0 955 & o s # ?
(1) e ' 2y =T
(3) =rsT 4) TEq

18. [T’ BFE WHIT B g= 1 IAET & 7

(1) TR (2) T
(3) Rer | (4) FHT

14. 9= 7 oF qglmEmEt o= &

(1} &< 2) TR

(3) wmat | (4) &\
15, B & e ys Ay ¥ 7

(1) A (2) &9

(3} &S (4) =E
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lﬁ.fﬁmﬂ!ﬁﬁﬁﬁ?ﬁﬂ'ﬁﬂﬂﬂ?ﬁlm%?
(1) =AfFTeT=®H (2) “TferaTE®
(3} AR [4) HHATF

17, ‘Wﬁwa@mﬁ%’wﬁmﬁﬂﬁw%?
(1) T (2) e
(3) Frgeer (4) AfEgTEer

18. ‘HIT A9 81 &' | Ja%l ¢ :
(1) AT HEA BT
(2) GTHE B
(3} AR &
(@) =T | Hg 7
19. 7 % forg W § WX FEAR € 7
(1) ST&T ' (2) ST
(3) Bwid (4) =TI
20, ‘SEHENl 9= ©

(1) EEarE (2) TS
(3) Far=refn (4) eafrEgs



21.

23.

23,

24,

Fill up the blank with appropriate article :

Ecin Morgan is ............ Irish cricketer.

(1) the 2) a

(3) an {4) also

Fill in the blank with appropriate 'prﬂpﬁaition :
We need a pen to write ...........

(1) on (2) about

(3) for - (4) with
Which of the following is an imperative senterice ?

(1) Peel free to text'me in the evening.

SET 17/VI/18(i)

{2) Don't you visit your uncle’s house during summer ?

(3) Indiais a land of diversity.
(4) How lovely they are |

Fill in the blank with appropriate verb :

It ........... raining since last evening .

(1} was (2) have been

(3) is ; (4) has been
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25, Pick out the Abstract Noun from the following options :
(1} Would (2) Doubt

(3] Rohan ' (4) Delhi

26. One, who is good at sports ?
{1} Author (2) Athlete

(3) Artist {4) Architect

27. What is the rhyming word for 'And' ?
{1] Sun (2] Bed

(3} Band (4) Fat

28. What is the antonym of the word - INHALE ?
[1) Sneeze (2] All hails

(3] Exhale (4) Exile

29, What is the meaning of the expression - 'spick and span' ?
(1) Pick and give
(2} Smart and dirty
(3) Smart and clean

(4} Clean and sure
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30. Which of the following sentence is in future progressive tense ?
(1) Iam going to Delhi now, |
(2) 1shall be going to New York. ]
(3) 1 shall have gone to the market.
(4) I have been going.
31, What is the synonym of the word joy is ?
{1) pleasure {2) movie
(3) picture (4) entertainment
32. Which of the following is a correctly spelt word ?
(1) Commitee (2} Committee
(3) Comite (4) Comittee
33. A baby deer is called a :
(1} Cub (2) Fawn
- (3] Strew (4) Colt
34. Shyam is ............... boy in our class. ,

(1} intelligent

(2] more intelligent

{3) most intelligent

(4) the most intelligent
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35. What is the synonym of the word - HARVEST ?
(1} Sow (2) Reap
(3] Plough (4) Furrow

36. What is the verb of the word - EXAMINATION ?
(1) Exam (2) Examine

(3} Examince {(4) Examiner

37. Which of the [ollowing is a First Person Noun ?
(1] We {2) They
(3) You © {4) She

38. What is the Past Participle of the word - PUT ?
(1) Putt (2) Put
{3) Putin (4) Pufted

39. Which prefix would you add to the word - Behave ?

(1) Dis (2) Re
(3) Miss (4) Mis

40. Which of the following is an auxiliary verb of present tense ?

(1) Was (2) Had

(3) Wil have (4) Are

10
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41. Name the woman President of India ;
(1} Sarjaini Naidu (2} Pratibha Patil
(3] Kamala Nehru {4 Indira Gandhi
A Hl A gl 1 A9

(1) HARF A=y (2) s wfes
(3) =HHom AEw (4} sfeaRr el

45. Which day of the year is celebrated as '‘Children's Dajr ?
(1) 5 September (2) 2 October
(3} -4Ja;mary (4) 14 November
W o R Pt R o s o & 7
(1) & Témsx (2) 2omREY
(3) 4 W’fr ' (4) 14 7EsT

43. National river of India is -

(1) ..Ganga o (2) Yamuna

(B) Kaveri (4) Godavari
AT H Tfg Af ¥

(1) sfr (2 gy
(3) G (4) eEd

11
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44. How many players are in one kho kho team ?

@ @ A B A A e Rawrst B E 7
(1) s (2) 6
(3) o @ 12

45. Who was given the title 'Gurudev' ?
(1) Mahatama Gandhi
(2) Sardar Vallabhbhai Patel
(3) Rawvindranath Tagore
{4) Subhash Chandra Bose

Toeg Jufy Pt o7 ¢

(1) weEwrgr i .
() ST goerd g Ied
(3) TS AN

(4) g F= A

46. The last court of appeal in India is ;
(11 High court
(2} Criminal court
(3] Suipreme court

(4) Civil court

e % fora 9a § ST SRR ¥ -
(1) F== = ,
(2) SATORIfERR =T |
(3) TEEE A

(4) & =

12



47.

48,

50.
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Wheel on indian national flag has how many spokes I

G ® sieu w9 feae Riftrt ¥ 7
(1) 20 | (2) 24
(3) 26 4) 28

Who composed Mahabharata ?

(1) Ved Vyas (2) Tulasidas
(3) Premchand. (4) Mirabai
TRTHIT &Y tee B Y Ay 7

(1) A = (2) TaEm
@) B (4) g

- How many planets are there is our solar system ?

B MR s § By me B 7
a 7 : @ 9
(3) 8 (4] 10

Which of the following is not a liquid ?

(1) Water (2) Milk
(3) Oil (4) Wood
T ¥ BT o el gy ol R 7

(1) o @ T
(3) AN (4) HST

13
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S1.

52.

33,

Which is the biggest continent ?
(1) Asia (2) Europe

(3) Africa ' {4) North Amecrica

gD 97 HETEY &Y 91 & 7

(1) uisrm (2) I
(3] GBI - ' (4) Il FAFLH

Where the Sun temple in the forrln of a chariot is located ?
(1} Assam 1 {2) Bihar

(3) Odisha {4) Maharashtra

W W ogra § g g AR &= feaw ¥ 7

(1} 89 ' (2) fEreTe

(3) SEE (4) HBTUSK

Sushil Kumar plays which game ?
(1) Badminton (2) Wrestling

{3] Tennis (4) Cricket

geiier R fpm aa & faadl € 7
(1) Fsffes (2)
(3) R 4) B

14
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54. Which of the following is a neighboring country of India ?

sﬁt

(3). A | @ e ()

(1] Pakistan (2} Zimbabwe
(3) Mixico (4) Egypt
Eﬂﬁﬁ'ﬂ?ﬁ'mm-nﬁﬁaﬁ@#% ?

(1) ufemrE - (@) Rram

What is the name of the capital Jharkhand ?
(1) Jaipur =~ _ (2} Patna
(3) G&ndhiﬁagar‘ (4] Ranchi
RS B T A b o7

(1) g | @ v
(8) TR © () TR

Whici; animal i_sl called the 'ship of the desert’ ?
(1) Yak (2) Camel
(3) Bul {4) Horse
I8 IR Y APRA F TS For oty B 7
(1) =6 2) =

(3) e (4) e

T
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57.

58.

59l

April 14 is celebrate as !
(1) Republic day

(2) Labour day

(3) Teachers' day

(4) Ambedkar Jayanti

AW 14 Y AR A E

(1) o= &g

(2) wfw Rew

{3) e REw

(4) SnFZEHT S

Lucknow is situated on the bank of which river ?
(1) Gomati (2) Shipra
(3] Satlej (4) Mahanadi
TETS e 94 & e ux e ¥ 7

(1) el @) B

(3) H (4) #EER

How many members are nominated by the President for Rajay Sabha ?

n@ﬁmmﬂ%gﬁﬁr%wﬁﬁﬁmm%?
(1) 8 (2) 10
@y 12 (4} 14

16



60.

61.

BET 17/VI/18{i)

Smallest state of India is :

(1) Goa {2) Sikkim
(3) Tripura 1 : (4) Mizoram
AT < §EY Bler 99 & ¢

(1) v (2) Ryferpm

3) By (4) Pl
. i |
Rate of 1 kg potato is Rs 5 then cost of 35 kg potato is :

1 Rl Ty T A B %5, a9 3% Tt SR o ¥

1 1
(1) €75 o @ 55
(3} T17 (4) %15

Find L.CM. 4,5,6;

4,5 6% d. 9. 7 BT

63,

(1) 20 (2) 30
(3) 40 _ 4) 40
9875- 1234 %8+ 2 =.........

(1) 3 (2) 5
B 7 @ 9

17
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64.

65,

66.

Arun’s mother gave him ¥60. Arun bought 3 maggi packets. Now he
has a five rupee coin, 2 one ruppee coin and one two rupee coin. The

rate of one Maggi packet is :

HET 0T A I 60 9% B 9597 Y 3 Fht e g2 | org 9aD g
Ush 9T S99 T T, 2 O v @ e ol u &) vl 3 R ¥

(1) %13 ~ (2) T15

3) 17 - (4) 218

A rectangular garden has a perimeter 76 m. If width of garden is 18 m

then area of the garden is :
(1) 1120 sq.m (2] 324 sq.m
13) 400 sq.m {4) 360 sq.m

0% SRR &9 & ofEma 76 5. 2| afk ofer & ¥R 18 9. &,

(1) 112033, (2) 324 F7.H}.
(3) 400 .5 (4) 360 ..
4:17=24:7

(1) 20 (2) 37

18



67.

68.

69,

70.

SET 17/V1/18B{i)

Roman Numeral of greatest three digit number is :
a1 it B wER =g W Hen ¥

(1) IXIXIX : (2} €M IX1X

B) CMXCIX ‘ (4 CMIC

What percent of i day is 36 minutes P

TH & o eem ofawg 36 fime § 7

(1) 25% 2} 38%. . . :
(3] 25% - (4} 0.25%

Ina AABC, £ZABC = 30° ZBCA =75° find ZBAC ?

AABCH , ZABC = 30% £BCA=75% ¥ @l £LBAC ¥ S T4 8V ?
(1) 758 ' (2) 500

(3) 90° i (4) 180° .

The average marks of Kunal in five subjects is 80.5, Find the total

marks of Kunal in all five subjects.
(1) 60.5 ' 2) 402.5

(3) 425.5 (4] 420.5

19
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11,

72.

T A Orer B # 80,5 ofrew o mra Rl ) FEne & 9 O fae
%o Y T R Gip ey |
(1) 60.5 (2) 402.5

(3) 425.5 (4} 420.5

i 80 one rupee coins weigh 388 gram, then how much 10,000 coins

weigh ?
(1) 48 kg 500 gm (2) 38 kg 8OO gm
(3) 485 kg Ogm (4) 388 kg C gm

3T U 897 & 80 gt @1 9= 388 Id & &7 10,000 FEni %1 a9id
feper B ?

(1) 48 @%.am 500 aH (2) 38 .M 800 17
(3) 485 f&%.o™m oI (4) 388 fB.qry 0 TPt
Missing number in the sequence 3, J 48, 192, 768 is :

FHIFBH 3, v .48, 192, 768 ¥ aruitea e &
(1) 8 @ 12

(3) 16 (4) 18

20



73.

T4.

75‘
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Find H.C.F of 12, 16 and 56 :

12, 16 ST 56 H §. €. 9. FINT H< ©
(1) 12 2) 8

3] 4 (4) 2

Sum of the number of edges and faces of a cuboids is ........
BT % Guleh AR FRAET S der & aer §
(1} 12 2 14

{3 16 4) 18

Choose two numbers from the box to complete the division

| ] +] | = 11. the numbers are :

4, 5,9, 31, 38, 44, 48, 132

e 1 g0 FRA @ Riw g # & & der g
1+ | = 11 riiftRe seard ¥ -

4,5, 9, 31, 38, 44, 48, 132

{1) 132, 12 (2) 99,9

(3) 44,4 | 4) 28,5

21 N
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76,

77.

78,

79, .

2 weeks, 3days and 3 hrs =............. hours :
299@E, 2RI ST 3y ... mgOR -
(1} 407 (2) 409
(3) 411 (4) 413
Largest three digit number divisible by 29 is :

29§ o 9 et o e 92t dem i

(1) 999 (2) 957

(2] 968 (4) 986

18 : 18 on digital clock means :

{1) 6:18 AM (2] 6: 18 PM

(3) 5:42 AM (4) 5:42 PM

T Rfsew o=t F 18 18 % a7 &

(1} 6:18 yafes (2) 6:18 SMURTEA
(3) 5:42 ydigA (4) 542 39S
20 L= creereroerrrrens >

(1) 20 ML (2] 200 ML

(3) 2000 ML (4) 20000 ML

21



80.

81.
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Mo = s ?
(1) 20 fA.gt. (2) 200 f&.=.
(3) 2000 .. (4) 20000 Pyt

L 5 1
Weight of fresh fish becomes E of its weight after drying. If weight of

one fresh fish is 2 kg, then weight of 15 dried fish in kg is :
wmﬂwgtﬁ%m%@rwh%mﬁmﬁﬁﬁ.m
2kg ¥ 99 15 geh woEt o qor Redam ¥ & .

(1 s o (2) 10

(3} 15 (4} 30

Which type of objects do not allow light to pass thfough them?
(1) Opaque object

(2) Transparent object

(3] Translucent object

(4) GIa# object

mmﬁ@m@m—mﬂﬂ%ﬂ?ﬂ??_

(1) ot (2) gEyt
(3) SR (4) @ arh
S e

23
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83.

A device that is used to break an electric circuit is called :
(1) Terminal (2) Switch

(3) Insulator (4) Conductor

9 T S R oRwy # A FY B R S R o ®
(1) oT=9 fara (2) T
(3) FELm (4) =T

83. Which gas in the atmosphere supports burning ?

84,

(1) Nitrogen
(2) Oxygen

(3) Carbon-di-orxide

(4} Carbon-mono-oxidie

ARVl & B o a voe § gEs w8 7
(1) e

(2) STEdT

(3) FEA-SH-HFAES

(4]  HIEH-HA-ATFAES

Which material is not attracted towards a magnet ?

(1} Iron (2) Nickel

(3) Wood {4) Cobalt

24
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B A Ie g § ot Tt e 7
(1) & (2) fep
(3) RS - (4) HraTeE

85. By eating soyheans we can fulfill nutritional reqtgmmentnf g
(1} Carbohydrate (2) Fat
(3) Protein (4) Iodine

Al e 51 R e ov B e g WA 7

(1) weEge (2) Fa

(3) A (4) SRR
86. The joint where our nogk joins the head is & w........

(1) Ball and socket joint {2) Pivatal Joint

(3) Hinge Joint (4) Fixed Joint

TE A Pl g Rr o § gEr o §
(1) 5w ol Wi dfiYy (2) gour €y

@) o dfer (@) Reax o

87. Which element is necessary for healthy teeth ?
(1} iron | . (3) Caleium
(3) Sugar (4} Gold

25
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Sidt =2 e @y & R B o1 o Y k2
(1) AFE (2) HfeagH
(3) =R (4) &

88. Discase caused by deficiency of Vitamin D :
{1} Scuvy
(2) Beri beri

{3) Loss of vision at night

(4} Rickets

faefem D & s1wre @ 77 ST B

(1} wrdt 2] =& T8
(3) waredy (4) Pea

oy

89, The teolal number of bones in human body :
g B O Hw egErt o &
(1) 205 (2} 206
(3) 207 _ (4) 208 .

90. Which is not a part of the flower 7
(1) Sepals (2) Stamens

(3} Pis til . (4) Leaf

26



91.
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AT A g A @ ke

(1) angaEs | 2 gﬁmr

(3) E@ET (4) Ol

Essential for living things is : .

(1) Eating | (2) Drinking water
(3) ‘Wearing clothes - [4}: | .R.EB]II;iII;"IEL!;[DII:E:
LR W'aﬁ % R amasgs & Wi % gumen &, B
(1) ¥ &/ © (2 9l 9T

(3] ®9 wear. - (4) w@EA

Quantity of usable mater on the earth is :

(1] Unlimited (2) Limited

(3} Ended . (4) Increasing

9ol 9T IEERT TR AT T B AT o 198 ¢

(1) sl ¥ L @) G R e

@ Wy @ W@ @R

AT
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93. Which of the following instrument measures the intensity of earth

quake ?
(1) Seismograph ' (2} Lactometer
(3) Barometer (4) Krescograph

e & & @ o 99 e i diean o § 7
(1) Teetures * (2) TFHRET
(3) aTteY (4) BEPAE

94. Which of these is not a constellation ?
{1] Orion (2} Ursa major

(3] Saturn (4} Scorpins

P & @ 9 |1 uw anl @ age qd ¥ 7
(1) NfR=T (2) SET A
(3) g (4) wHITTE

95, The distance between Delhi and Mumbai is usually expressed in units

of :
{1) Decameter (2) Kilometer
(3} Meter (4) Centimeter

28



96.

97.

98.

SET 17/VI/18()

Rl & pud 3 di & g A & A B
(2) PreRiEx

(1) BHHRT
(3) #HRX

The moon is :
(1) Satellite
(3) Star

T &
(1} I9HE
(3) AT

Coal, oil and naturel gas are all :

(1) Renewable

(3] Food

e, 3 oY s e ®
(1) e
(3) 9=

The SI unit of speed is :
(1) m/s
(3) km/g

19

(4)

@

4

(2)
(4)

(2)
(4)

(2)

@

(2)
(4)

Flanet

Comet

Foasil

Hydroelectric

cm/kg

none of above
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oa

W F oE. o F A 2
(1) #r/a. _ (2) .
(3) Pt sam @) B T

99. Which of the following is used to make cement and concrete ?
(1) Lime stone (2) Sand Stone

(3) Pumice (4) Red Stone

= 8§ #F O oft adle 999 § Iuaer 8ar & 7
(1) AT Jeerg (2) SEST T
(3] =fam TeR (4) T YRR

100. Recycie precess is not possible with :
(1}  Paper (2) Plastic
(3] Glass {4) Fuel
g =TT e el #
(1) @RS (2) wif¥=s @0

(3) i = - (4) ST @l

30 36,000



